## OFFICE OF THE SENIOR SUPERINTENDENT OF POLICE NATIONAL HIGHWAYS & MOTORWAY POLICE N-5 SOUTH-II, SAKRAND PHONE NO.0244-323494

No.SSP/NH&MP/N-5/South-II/ Acctts/No.\\ \\$8 \quad /24 \quad Dated. \\ \\$6 \quad \( \lambda \) \\ \( \lambda \) \quad \quad \( \lambda \) \quad \qquad \quad \quad \quad \quad

FINANCIAL EVALUATION REPORT (As Per Rule 35 of PP Rules, 2004)

1.	Name of procuring Agency	National Highways and Motorway Police N-5 South-II Sakrand				
2.	Method of Procurement:	Single Stage Two Envelope Procedure				
3.	Title of Procurement:	PROCUREMENT OF TYRES, BATTERIES, STICKERS, SEAT COVERS, BRAKE PADS, FILTERS, SPARK PLUGS ETC: FOR OFFICIAL VEHICLES OF NHMP N-5 South Sector-II Sakran				
4.	Tender Inquiry No:	No. 124/MT/NHMP/2024				
5.	PPRA Ref. No. (TSE):	TS536908E				
6.	Date & Time of Bid Closing:	03-05-2024 11:00 AM				
7.	Date & Time of Bid Opening:	03-05-2024 11:30 AM				
8.	No of Bids Received:	01 (One)				
9.	Criteria for Bid Evaluation	Least Cost Based Selection (LCBS) Technique				
10.	Details of Bid(s) Evaluation:	As below				

				Rates Quot	ed by Firms
No.	Description	Quantit	M/S Akhtar Traders Sukur		Rule/Regulation/SBD*/Po licy/ Basis for Rejection /
110.		У	Unit Price	Total Price	Acceptance as per Rule 35 of PPRA Rules, 2004
			TYRE	S	
1	265 65-R17	08	77,500	620,000	
2	265 60 R-18	08	85,250	682,000	1
3	255 70 R-15	08	65,600	524,800	M/S Akhtar Traders Sukkur
4	195 R-15	20	52,250	1,045,000	being responsive, compliant & technically qualified found the lowest evaluated & most advantageous bidder
5	195 R-15	16	52,250	836,000	
6	195 65 R-15	08	36,500	292,000	
7	215 55 R-16	52	44,200	2,298,400	
	Tot	al		6,298,200	
			BATTER	IES	
1	110 Exide	3	27,450	82,350	M/S Akhtar Traders Sukkur
2	110 Exide	2	27,450	54.,900	being responsive, compliant &
3	100 Exide	2	27,450	54,900	technically qualified found the lowest evaluated & most
4	100 Exide	6	27,450	164,700	advantageous bidder

				Principles of the second secon		
5	100 Exide	5	27,450	137,250		
6	85 Exide	15	24,500	367,500		
7	85 Exide	2	24,500	49,000	wis.	
8	12V	1	2,120	2,120		
9	12V	1	2,120	2,120	er a	
10	12V	3	6,350	19,050	And the second s	
	Total			933,890		
	No of interior products to the second of the		SPARK PI	JUGS		
Spark Plugs for 15 Toyota Altis Cars  Total		60	3,850	231,000	M/S Akhtar Traders Sukkur being responsive, compliant &	
		1		231,000	technically qualified found the lowest evaluated & most advantageous bidder	
		FILTE	RS FOR 03 PA	RADO TOYOT	Α	
1	Oil Filters (30002)	36	2,212	79,632		
2	Fuel Filters (30180)	06	2,690	16,140	M/S Akhtar Traders Sukkur being responsive, compliant of	
3	A/C Filters (06080)	06	1,800	10,800	technically qualified found lowest evaluated & most advantageous bidder	
4	Air Filters (30040)	06	6,200	37,200		
	Total		1-1-1-1-1-1-1	143,772		
		FILT	ERS FOR 02 D	CABIN ISUZU		
1	Oil Filters (98165071)	26	2,450	63,700	- M/S Alsham Tondon Suldan	
2	Fuel Filter (98159693)	06	3,110	18,660	M/S Akhtar Traders Sukkur being responsive, compliant & technically qualified found the	
3	A/C Filter (06080)	06	1,800	10,800	lowest evaluated & most advantageous bidder	
4	Air Filters (98140266)	06	11,300	67,800	advanageous order	
	Total			160,960		
		FILTE	RS FOR 02 D/C	CABIN TOYAT	A	
1	Oil Filters (YZZ D-4)	24	1,770	42,480	M/S Akhtar Traders Sukkur	
2	Fuel Filters (0L070)	06	3,200	19,200	being responsive, compliant & technically qualified found the lowest evaluated & most	
	A/C Filters (06080)	06	1,800	10,800	advantageous bidder	

			The same of the sa	The Party of Concession of the State of the		
4	Air Filters (0L010)	06	2,850	17,100		
	Total			89,580		
		FILTE	RS FOR 06 S/C	ABIN TOYOTA	۸	
1	Oil Filter (YZZ D-4)	72	1,770	127,440		
2	Fuel Filter (0L070)	18	3,200	57,600	M/S Akhtar Traders Sukkur being responsive, compliant &	
3	A/C Filters (06080)	18	1,800	32,400	technically qualified found the lowest evaluated & most	
4	Air Filters (0L040)	18	6,200	111,600	advantageous bidder	
	Total			329,040		
		FIL	TERS FOR 05 V	AN TOYOTA		
1	Oil Filters (YZZ D-4)	36	1,770	63,720		
2	Fuel Filters (0L050)	11	5,660	124,300	M/S Akhtar Traders Sukkur being responsive, compliant &	
3	A/C Filters (06080)	11	1,800	19,800	technically qualified found t lowest evaluated & most advantageous bidder	
4	Air Filters (30070)	11	6,200	68,200	advantageous order	
	Total			276,020		
		FILT	ERS FOR 15 C	CARS TOYOTA		
1	Oil Filter (YZZ-4)	180	1,770	318,600	M/S Akhtar Traders Sukkur	
2	A/C Filters (06080)	45	1,800	81,000	being responsive, compliant & technically qualified found the lowest evaluated & most	
3	Air Filters (0M020)	45	6,790	101,850	advantageous bidder	
-	Total			501,450		
		FILTE	RS FOR 01 TR	UCK MINI HIN	О	
1	Oil Filter (QCO 12)	06	2,250	13,500		
2	Fuel Filter (FFC-287)	02	2,200	4,400	M/S Akhtar Traders Sukkur being responsive, compliant & technically qualified found the	
3	A/C Filters (06080)	02	1,200	2,400	lowest evaluated & most advantageous bidder	
4	Air Filter (78010)	02	3,800	7,600		

Total				27,900	
			SEAT COV	ERS	
1	Seat Covers for 03 Prado Toyota	03	21,500	64,500	
2	Seat Covers for 02 D/Cabin Isuzu	02	19,000	38,000	
3	Seat Covers for 02 D/Cabin Toyota	02	19,000	38,000	M/S Akhtar Traders Sukkur
4	Seat Covers for 06 S/Cabin Toyota	06	16,500	99,000	being responsive, compliant technically qualified found the lowest evaluated & most
5	Seat Covers for 05 Van Toyota	05	24,500	122,500	advantageous bidder
6	Seat Covers for 15 Cars Toyota	15	17,200	258,000	
7	Seat Covers for 01 Hino Truck	01	22,500	22,500	
	Total			642,500	
			STICKE	RS	
1	Stickers for 03 Prado Toyota	03	35,500	106,500	
2	Stickers for 02 D/Cabin Isuzu	02	35,500	71,000	M/S Akhtar Traders Sukkur being responsive, compliant of technically qualified found the lowest evaluated & most advantageous bidder
3	Stickers for 02 D/Cabin Toyota	02	35,500	71,000	
4	Stickers for 06 S/Cabin Toyota	06	35,500	213,000	
5	Stickers for 05 Van Toyota	05	35,500	177,500	
6	Stickers for r 15 Cars Toyota	15	35,500	532,500	
	Total			1,171,500	
			BRAKE PA	ADS	
1	Brake Pads for 03 Prado Toyota	06	13,500 (Front) 12,500 (Rear)	40,500 37,500	
2	Brake Pads for 02 D/Cabin Isuzu	04	10,500(Front) 14,500 (Rear)	21,000 29,000	M/S Akhtar Traders Sukkur being responsive, compliant & technically qualified found the lowest evaluated & most advantageous bidder
3	Brake Pads for 02 D/Cabin Toyota	04	11,500 (Front) 12,500 (Rear)	23,000 25,000	
4	Brake Pads for 06 S/Cabin Toyota	12	10,500 (Front) 12,500 (Rear)	63,000 75,000	
5	Brake Pads for 05 Van Toyota	10	11,500 (Front) 12,500 (Rear)	57,500 52,500	
6	Brake Pads for 15 Cars Toyota	30	10,500(FRONT) 8,600 (REAR)	157,500 129,000	

7	Brake Pads for 01 Hino Truck	02	12,500(FRONT) 14,500 (REAR)		
	Total			737,500	
	Grand To	tal		11,543,312	

the Financial/Purchase committee decided for conducting market survey of said liems. Hence, market survey was conducted & obtained rates from M/s Pak Siddique Autos Sukkur, M/s Al-Habib Associates Karachi & Dawood Enterprises Karachi. These firms offered highest rates/bids as compared to M/s Akhtar Traders

Signature:

Sukkur.

Official Stamp: (Rana Muhammad Ismail)

SP/Sector Commander NHMP South-I, Sukkur Chairman of Purchase Committee

Copy to W/DIG N-5 South Zone Karachi for information, please.